
Prüfungsaufgaben Aufgabe 202 
 
 

 



1.1 

 
Strahlensatz: 
 
AB          HE 
---- = ----------  
DC      HE + EF  
 
Über Kreuz multipliziert: 
 
AB * (HE + EF) = DC * HE 
 
1 cm * (HE + 6 cm) = 4 * HE 
 
HE + 6 = 4 * HE | -HE 
 
3 * HE = 6 | :3 
 
HE = 2 cm 
 
HF = HE + EF = 2 cm + 6 cm = 8 cm 
 
V = VHalbkugel + VKegel1 - VKegel2 
 
FC = DC/2 = 4 cm/2 = 2 cm 
 
AE = AB/2 = 1 cm/2 = 0,5 cm 
 
        DC³ * π       FC² * π * HF      AE² * π * EH   
V = ----------- + ---------------- - -----------------  cm³ 
           12                   3                       3 
 
        4³ * π        2² * π * 8      0,5² * π * 2   
V = ---------- + -------------- - --------------- cm³ 
           12                 3                    3  
 
V = 50,8 cm³ 

 
1.2 

 
m = V * ρ = 50,8 cm³ * 0,53 g/cm³ = 26,9 g 

 


